Islam Was A Super-Power 78B-TEST SYSTEM |slam will be A Super-Pawer
Namec: Class: 10" | Subject: CHEMISTRY | Time: 60 Minutes
Roll#. | Scction: Syllabus: Ch. 09 v1 | Total Marks: 40 | Obt. Marks:
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JusipieL)-Er 4 auﬁlﬁm&pabﬁgﬁuangﬁu:fbéf;_-x&bﬁdtrggdl’g}lzqﬂ&.:DmClBu\ &!lﬁjl%zdlfﬁ

14U
KiP Wzl 3 feir SIS NS i
D C B A Questions |  =Uir A
; s /Il_-":((/dxg' "u{c’_cﬁu -ldzJ:un
[C] [3¢] [A][B] | [2A][B] 2A,,,+B,, =3C,, i
[A]' [B] [?‘A][B] [C] ["C] For the above given reaction, the expression for the
eqeilibnium constant is:
v mol*dm™ | mol™'dm™ moldm™ _ :‘Lf‘le' K L H,+1, = 2HI S 2
No units In chemical reacton 1, +1, = 2Hl units of K_are:
7 ‘-t’ Ik, oL :.:-_.L!'qsfi’ 3
Green Purplc Ycllow Black The colour of 1odine is:
W ASTwE Ly S48
1889 1879 1869 1859 Guldberg and Waage put forward law of mass action | 4
in:
x ¥ U a o
Forward backward at static al c.ht':mrcul If Q.>K, lhcn tion \ull bc
equilibrium | equilibrium
N
o 4 T - 4 EA‘{
iee | oenss | e | e Q%W el
Numerator | Equilibrium Products RCJC'“““N/@ "cs;ilmuccs Which reacts in a chemical reaction
. ?\h A ) -
Ly Yodans S N & VB SISt .
Moscley Rutherford Guldberp D{!Sél Who put forward the law of Mass Action?
g WV K_srsls PRSI )lu},;;;y"{ I$s
mol™ dm moldm’ mol” d\r@ N When number of moles are same on both sides then | 8
No units ) .
unit of K_will be:
20  Write short answers to tl\féllomnu questions. _é'.-.-,pﬁ/‘? Levrd)sse <2
What arc irreversible reactions? Give a few - :. . .
characteristics of them. -Eubebr alus VAU 1 (1)
Derive equilibrium constant expression for the Cef EJGE L L2 v e Poitym Pof
: ) : (ii)
synthesis of ammonia from nitrogen and hydrogen. _aE R L
What is active mass? Wnte its unit. f@i ..;’J.:;grw?._;y'mr'g (iii)
Dilferentiate between forward reaction and reversc | © - , R
reaction. ﬂ’;‘,' -ELOI LTSS TE Sk | (V)
Define cquilibrium constant and write its unit. 3 g gty RS dsk | (v)
What 1s static equilibrium? Give an example. 3 e LIt U AehL | (vi)
Why is cquilibrium state attainable from either way? ?.»-_Cl:u_,ﬂ)’bu,f -y nd e A | (vii)
How can you know that a reaction has achieved an -
equilibrium state? eV Ahii S ¥& = /T | (il
Give the importance of equilibrium constant. eSS Jki | (ix)
Define the large and small values of K_. -_é’-ia 7 Jésdwérﬁ' S K, aldsrslul K. (x)

12 Attempt all questions.

i ferlely 3

What is the importance of equilibrium constant?

e =nf2E sk | a

Explain the relationship between active mass and rate of
the rcaction.

-é‘.:JU:JJL:Lﬂ..“.:JZ.dfglduﬂJl;g b

Write down the macroscopic characteristics of dynamic
cquilibrium.

y -c{//‘p’li.f:f':/‘é(/d:(l_fbu c
Please visit for more data at: www.pakcity.org
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Islam Was A Super-Power 786-TEST SYSTEM Islam will be A Super-Power
INamc: _ Class: 10 | Subject: CHEMISTRY | Time: 45 Minutes
l_Roll#. |SecticE Syllabus: Ch. 09 v2 | Total Marks: 40 | Obt. Marks:

Ui Sty L) P Lyt
01 ®@EOO (02| ®ECO (03| ®PEOCD (04| ®PEOCO (05| PEOOG
06| @EOO (07| ®EOCO |8 ®EOO |09| ®EAOOO (10| ®®OO

JUriglefiedSs Ac Bt SA A 32 00 L Rer s LN E tes e Ly 4 QY2484 DAICBANL S K L1 Lo
T U
-fx:r;ﬂﬁzuflpC&JfJLf.{/éﬂU{
D C B A Questions | =ty A
au 1L K Lo Lt PCl, e Cl, . PCI,
moldm’ mol™' dm’ mol™'dm™ moldm™ | For a reaction between PCl,and Cl,to form PCl,, | 1
the units of K_are:
=0 s £ .f.-/ :grx-:-:a&’o?{'dzu'amﬁb; >
Slow Moderate Very fast Negligible | In the beginning the rate of reverse reaction is:
28 ’ - .'.‘. = AOnl; - ".( 1} - - 2
KA"E'._E" (/d»‘:.'f/ A5 ‘L' s u.'b" :arlkfgfz_::;l.lafd‘fldujf-.-?
S.mmf Ph.ymcal Ffause Dy.nam.u: When a reaction ceases 10 proceed, it is called: )
Equilibrium | Equilibrium | Equilibrium | Equilibrium ' T '
i () [] () e dlp
Molar concentration is denoted by:
(\%ﬁu:uf’ S Lt Ak
4 3 2 l How many @ ilities are there at equilibrium 5
state? A\ &
.l-;)b ‘J’:’I ’ é’:\ Sk &5 ] ®\ e drerf5187 Q. <K, N 6
n bot t ol e e o S
diooetions | equiibriom Backward Fonvmni/\\(@ < K_then direction of the reaction is:
<P .
NH, HI SO, g@j@ o ’-‘:‘-u""rd'f.d-fh?c-uf!f SV I
S Gas which s prepared by Haber's process is:
Ly Wl L A WEL S ST .
Moseley Rutherford Guldﬁb@? Dalton Who put forward the law of Mass Action?
200 Write short answers to tmﬁﬁing questions. _zg,"'..-,-,pz/' Lordis e -2
] [ ¥ L L] \/
Define chemical equilibrium state. et SEASEES | )
How is dynamic equilibrium established? ?‘:_rxfﬁé-rﬁ/d:ﬁ.(tfﬁ (i)
What is relationship between active mass and rate of 37 s
S l 'P l rd ﬁ&a YLJ“I_IJ&:/&J‘-{IJJJHJL}"Q (111)
reaction’ :
How dircction of a reaction can be predicted? 2% e ol SN, | (V)
e - =
What is meant by rate of reaction? 3, e e SEiaTen | (V)
Define reversible and irreversible reaction. o SIS i JE s | (i)
What are numerator and denominator? LU S Sim 8L | (viD)
What is meant by extent of a reaction? T ,gc_pJf-ﬂu, (viii)
What is meant by a complete reaction? How is il R :
 presented? fetbl b e ife i Vet | (i)
What are the characteristics of a reaction that | Fe& fledl Skiidz Lokl i x)
cstablishes cquilibrium state at once? e

12 Attempt all questions.

Erferlclly 3

Write down the macroscopic charactenstics of forward . s

and reversc reactions. i Vel LK S ESasagaminsi |
Describe a reversible reaction with the help of an . .

example and graph. i -t e a§ S ade | b
State the law of Mass Action and derive the expression -/ 174 <L s JA2LnELf TE U ST -
for cquilibrium constant for a gencral reaction. LT S IS I
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Islam Was A Super-Power 786-TEST SYSTEM Islam will be A Super-Power
Name: Class: 10" ‘ Subject: CHEMISTRY | Time: 45 Minutes -

Roll#. Section: Syllabus: Ch. 09 v3 | Total Marks: 40 | Obt. Marks:
/u:;buLJs..g.éJ/c_ﬁL):LﬂﬂJ:paPJ:%Jﬂ:/JJG-Lﬂu:/'bé2,12.!.»2:Jfﬁ{df@ﬁ-@ﬂi@:nmC'B'A.:.pi!.'f&ﬁdlr/: ] /!J §
y
L W23 L it SESYSNLSY
D C B A Quecstions | =y A
Fi oo | deabif K, | GreadidK, | oK, | drpasduigmr s hdt bz s
uf} (;-J” Q-JJ' é-aflj'{ :urb'!;d-'f 1
None of Moderate | Very large K, | Very small | Reactions which have comparable amounts of
these K. value value K. value | reactants and products at equilibrium state have:
J){_ C.,/ 44 f;nl :g.-erHl 2
Colourless Red Purple Orange The colour of Hl is:
s » oLz 1 Prc Wi9) 7 2
Lirt i, /QJ, N ‘ | . S s F e L8 EL
. | In chemical reaction, the substances that combine | 3
Element Radicals Reactants Products .
arc called:
St ;gdm’t S<PI7 = s :"ELLM"E;T'J"‘A"‘;‘JV 'u;’”z;ﬁg e
. Non- : : Such reactions which continue in both directions are | 4
Dynamic : Reversible Irreversible ,
Reactive called:
:y’g_:':; d:i:lv'l_ﬁ- UL-{!J!'JJ:.:!
1889 1879 1869 1859 Guldberg and Waage put forward law of mass | 3
action in: A6,
- — ~2 i
L'(Jf (-'l, ,;ﬁ'/.fdl,-,l ’3:,;} @ | :.a.r.-:..w'ub’;.gbfl(c
Nonc of Initial ’ 6
Volume . Temperature | Valu depends upon
these Concentration A
, .. \/)& a
PN A rfiuf'-f:' f/J'('u- @ :(::\-,’564?()‘. > K,_,fl
Forward bZ;Ci(\V;l;d al stitic it (.hcmlcﬁm Q > K_then reaction will be: 7
cquilibrium cthh;ﬁﬁ; f ‘
.7
S RTUL, 5::..'..1 St @ C—u-*"-'( u‘lb’u =l J( K, 8
downward upward backward . rward K, is the rate constant of reaction.
20 VWrite short answers to the l'o\\@{\\\i)\j\: qucstions. .Z’J.-.-..Uﬁ/‘:' Cetirdioie .
How dynamic equilibrium |q<c\®lshcd ) CebrfC Ll 5EIEs | (@)
Why at equilibrium state reaction does not stop? DA foa] oSl 85 | (i)
s = . 2/ & 4
If reaction quotient Q_of a reaction is more than K_, Vsrrntic K, ’-L’JQ— -7 0'5‘5,‘; U"('lf"f(f' Giii)
what will be the direction of the reaction? e rer LH5
Give two macroscopic characteristics of dynamic ’ : A e
Write down the equilibrium constant expression for | :zf ﬁﬁrﬁ L2 £ sS v o5 & ) )
¥
the given reaction: N, +3H, = 2NH, N, +3H, = 2NH,
What are imreversible reactions? Give their some . a .
charactenstics. -’-’-6-=-E‘"’ &JUWLE.?’/'{'J/J.’! g | (V)
Define dynamic equilibrium. g oy PSEASE L | (vid)
Why reversible reactions do not go to completion? 9 2 f UL I PGS 4y | (i)
ol
Explain law of mass action. g- F oot | (ix)
Differentiate between products and reactants. I 5 _aVJ}L;:./"‘%du,u‘fG,,f (x)

12 Attempt all questions.

..g,{.{‘f- ezl 3

Descnbe

the

characteristics
rrreversible reactions? Give examples.

of

reversible

and

e SAE Y =l S GJE aguh  JE i
Y

Descnibe equilibnum constant and its units.

_é.fukdz.{'af.dlzﬂys(ﬁﬁ'drg b

Differentiate between forward and reverse reaction.

-g',’:'/jgj}ufdbfidzgfa;’u:'buli C

Please visit for more data at: www.pakcity.org
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Islam Was A Super-Power 7BB -TEST SYSTEH Islam will be A Super-Power

Name: Class: 10" [Sulucct: CHEMISTRY | Time: 45 Minutes
Roll#. I Section: Syllahl!s: Ch. 09 v4 | Total Marks: 40 | Obt. Marks:
i Pl s LS Pyt

11| @EOO (2 ®EOCO |3| ®EOD (04| ®EOO (05| ®EODO
6| ®EOO |07 ®EOD (08| ®EOO |09 ®EOO (10| ®PEO©O

Jusvlie i A Bt /A3 0b Lotrerne RN L s v 24320 L 4 DACRA 2L L Lir Lo
P wzulstem SIS | 7Y
D C B A Questions | =iy V-
7 I-l{ s i LJJ 08 !_: 1
Green Pumle Yellow Black The colour of iodine is:
K, K, K, K, ek, |
K. K, K, K, K. is equal to:
N ) . -l:- i ':a.- s ..~ AT1a .‘_ K/{
Py PNIS i = . ‘%u.f., ;-Jt{ugwutwlkl;?uftf{l'dw- £ .
Numecrator | Equilibrium Products Reactants m:cill'léﬁfmws WRIGI FEaT=An 9 Glienlical Fetetion
y . :gyl!ugﬁg&‘y[ffdjf'd'u;é_Lc}e{ld&}:_i&,n
c] 5] | [AF[B) | [ 2. +B,. <1C, 4
[A].[B] PA][B] [C] ["C] For the above given reaction, the expression for the
cquilibrium constant is;,
iy 319020 ..f.ca'! .;,':|l; \/ = °|,f LﬁL.J SIS 5
Moscley Rutherford Guldberg Dalton Who the law of Mass Action?
&ﬂb\‘_\ c.l‘l:lf/'w:( St e :“; o’:-;f{ 1232146
K, K, K, K, '@ cific rate constant of fornward reaction is 6
/:\\N,@ﬁnotcd by:

e (/ N .« Ay » ‘Lf
Lﬁu‘!é’( m0|2 dm-] mol-l dm-3 m @> . 'H-.J.!.L K: - H: + I\ — 2HI J'b 7
No units ¢ In chemical reaction H, +1, == 2Hl units of K_ure:

'\)Q}j "y :E'J’.’-‘-;;_'E’K‘;Jf..:'.f:'J&"P'J')lu;l)ucty"'{ldl-_—a
mol™ dm moldm’ g N. il When number of moles are same on both sides then | 8
g unit of K_wall be:

20 Write short answers to the following questions. _{:f'.:;l.i:/‘" Lardioie -
Why at equilibrium state reaction docs not stop? o Ul TG SEASE | ()
What are numerator and denominator? VAP ISmade | (i)
Why reversible reactions do not go to completion? 02 rfudd Jf WSS a2, (iid)
What is meant by rate of reaction? E_ Tt ,Y. c:..;j'r 1ISsdTess | (iv)
Define equilibrium constant and write its unit. 2. Bamtos Lo Aéh | (v)
Define chemical equilibrium state. E L EASEES | (vi)
Differentiate between products and reactants. L@’l 2N} W s NGty | (vid)
Why is equilibrium state attainable from cither way? fe. LW bud e B SEEEASH | (viii)
Define the large and small values of K_. ZE Ao 3R K b8 8K, | (ix)
What. is relationskip between active mass and ratc of e St S | ()
reaction? :

12 Attempt all questions. L ifezlety 3

: : 2 ; <, 5t 11

State the law of Mass Action and derive the expression fAshid £ SENGJE L &£ o F UL q
for equilibrium constant for a general reaction. et
Define reversible reactions. Write its four macroscopic | 47 =k -{1’: 1B hlun.g ) A6, g b

charactenistics. ) 5{

How extent of a reaction can be predicted with the help ce dod é& S Lol i efE sk | e
of cquilibrium constant? -

Please visit for more data at: www.pakcity.org it
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Name:
Roll#.

_Igctjm:

Class 10 [Subjcct' CHEMISTRY ITlme 45 Minutes

Syllabus: Ch. 09 v5 | Total Marks: 40

Obt. Marks:

It Uribnple - &0 L e Bl A 0 5 I-PL-,J.K.:-;;:.J s @J&bﬁd'fﬁ{df&l.dé{.) DACBIAcAI2 .'f.:lgﬁdlr/;

Ll arufd L. L/{/&ﬁm

12U

D C B A Questions | =ir A
] e chlfeP i shd Lo e s
[N.O, ] N0,/ (M0, [NO.] 2NO, = N,0, 1
[NO,] [2NO, ] [NO,| [N,O,] [ For the given reaction equilibrium  constant
_ cxpression is:
7 et s c% pakcity. org}
i e J227 32,0 =r-t':w‘-r'64?0 =K_ A
Nonc of Al , . e ¢ 2
hose Rl Reverse Forward | If Q_=K_then reaction is:
' cquilibrium
state
o a dl'v.k"l.rll' i ot
c,"'glu‘a'jjl-_c. c;'gld;bu'.i ‘f-( u"'glJJJ::'J.‘_U ::-_t'll:(dg: !:'J.l; G’Adn;!n.})}';‘t‘ﬁfﬁld‘ul
Backward Forward ", Reversible | A reaction in which products recombine to form | 3
Rcaction Reaction | lrreversible | Reaction | reactants is called:
L Reaction _
. . . ’//'-—‘)Jrf)d 't—-—t—- Q‘F’ ls‘n — ZH"” Jf'dl
[H] (1] [HI] [H. ]| l l [HI] 4
[Hl] [H] [lz] [HI] [H:_.][l:] Equilibrium @ﬁﬂ\? expression for the ahoxc
reaction igy
%\\ Lr..f; "'U l._:m.l.'_.fml_f/.af
1889 1879 1869 1859 rg and Waage put forward law of mass action | 3
\m’
> :C.'_.l":"_/"gw}(#:";fn:d;zg'ft"Ld:{'dl;)ul;
K., K, K. @ The specific rate constant of forward rcaction is | ©
_ A\ & denoted by:
22 Write short answers to the f oll%@q)ucsuons .::.‘T.:.yg/f’ Lty -l
What is meant by rate of rmctmp\(\N\\B el /.L_f.-;.d"-{ RS ROV (i)
What is relationship between active mass and rate of o X :
renction? P i feO” L L LSS | (i)
Define equilibrium constant and write its unit. gL JEaSfE sk | (i)
Give two macroscopic characteristics of dynamic ! : . .
cquilibrium. : Loy LSt shLEn | (V)
Define dynamic equilibrium. S sh L | (V)
How direction of a reaction can be predicted? -3 ?;Jﬁy&;’.ﬁf Srderd N8 | ()
-
What is active mass? Write its unit. Z s U | (viid)
Give the importance of equilibrium constant. 3 _E;’:"uq_,_.:éiyf_';!ﬁfﬂ-'/dfl (viii)
Define the large and small values of K.. W -_4:...&/";,(5!::;5:5&:{;{](‘ m;;!:njud:;b(}(c (ix)
What are numerator and denominator? SV SIS A (x)
Why reversible reactions do not go to completion? Ty u{ 18,5000 | (xd)

12 Attempt all questions.

-5‘,"-:4/ cpzlelly 3

Differentiate between forward and reverse reaction.

-_é.f/_/?J/;gﬁ dﬁgld:u"i._f_'uslbuli a

State the law of Mass Action and derive the expression
for equilibrium constant for a general rcaction.

AR L £ P8 Lim s 17 Fhunaia

(1) CO

(g)

(g)

Write the equilibrium constant expression for the
following reactions:

(i) H:m + Izul — 2Hlm
+3H,,,, = CH,,+H,0

(g)

b

-f_’._":ﬁlwz ,-’..'.-':".'J(

R NS PR P T SR
Hn” + 11‘“ «— ?'HI‘F’ (l) C

co,,, +3H,,, =CH,,, +H,0,, (i)

Please visit for more data at: www.pakcity.org
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Islam Was A Super-Power

7BB-TEST SYSTEM Islam will be A Super-Power

Class' 10tk lSubJect CHEMISTRY Tlme. 30 Minutes

E:ction: Syllabus. Ch. 09 v6 | Total Marks: 18 | Obt. Marks:
I/ Uil L) & Ao o ft SAN IS PL,Jku;)c.;ﬁu:}béérJ'dbﬁ dlr/:{QYL!iﬁ.gﬂéir.JDM C:B: A;«Pﬁ;f&ﬁdlr S oY)
_fnn"bugﬂu/.h}:&u‘t()_/{/&ﬂf_)z i
D C B A Questions | =iy £
- be ‘ . beo - ’
il . 7| moltdm- mol™' dm™ moldm™ , LS ILK S H, + L = HL S 1
No units In chemical reaction H, +1, = 21l units of K_are:
Vs J4 13 L ie KT 5
Green Purple Yellow Black The colourof iodine is:
B PA7Y
NJ:;Ufr V- J2g4 3190 :é-r”l.';{ldf; Qc - K¢ )" 3
t;lnc 0 f“ . Reverse Forward | If Q,_=K_then rcaction is:
these cquilibrium
state _
:gtyg‘,ﬂ;w[&-ﬁ):{q.ru’:‘?éc;'-{ldibuli
K, K, K, K, The specific rate constant of forward reaction is [ 4
denoted by:
= =L z = ‘f -l :.:;.r::.:,;;b’a’{ RIS ; 5
Slow Modcrate Very fast Negligible | In the beginning the rate of reverse reaction is:
(oW BT Lo S 2f
1889 1879 1369 1859 Guldberg and \ﬁé) ut forward law of mass | ©
action in:
O e ﬁ‘{ % A w
:/'L,(Z:l' '—f"-'b(é ff'/Jlfﬁg‘—C:‘ #J’u:ﬁl,:. @\ 'r-?’l.'f{'dd Q; S Kc )’1 .
Forward backward b g ot C!’?m.' sl @@% K_ then reaction will be:
cquilibrium | equilibriugn ¢
pee | ek | e | S| sialllsedienesia i)
Numerator | Equilibrium Products &e‘ = ¢ substances which reacts in a chemical reaction
RPN are called:
c}igldﬁu..;. dﬁé‘ld:;)uﬁ ‘h,z <4 ..r \Dﬁ:ldidfrixz :g.t’lk(lj_(l!:fd_.l;y':\/:;gszu!n_’triu;ufgf?d{ldk;"
Backward Forward Irrev Reversible | A reaction in which products recombine to form | 2
Reaction Reiction B@% Reaction | reactants is called:

v () & et A2 U |
Molar concentrition is denoted by:
S LS ASE
4 3 2 ' How many possibilities arc there at equilibrium | 11
state?
J)IJ"!J #Ad’-(' J ds;' LT :.G-L-;”yb(di{’dl;o{ < Kcﬁ "
_In h(?lh .l.“ ; Backward Forwvard | Il Q. < K_then direction of the reaction is:
directions | equilibnum
NH I SO, co, et riendsiig | g3
’ ) } Gas which is prepared by Haber’s process is:
iy 3,949 J/,.’f u':"li ?.l;ru‘::ri_‘f( .;)“'-rlufl....ii'.u 14
Moseley Rutherford Guldbergp Dalton Who put forward the law of Mass Action?
»et » lf Wy I
wd | oA | e | o  ulbafeml A [
. N In chemical reuction, the substances that combmc o
Element Radicals Reactants Products .
are called:
St ;gélut VP17 VP ) wa'_llf-u;}’&zd:b ?;Jl)‘uf”ﬂ?:'gd)é' 16
. Non- : . Such reactions which continue in both directions are
Dynamic : Reversible Irreversible .
Reactive called:
_Lﬁj:;ug{ ST L vtk
1889 1879 1869 1859 Guldberg and Waage put forward law of mass | 17
action in:
oS s c,’-‘-’;'/(dl.&l yy. e b i¥=d (K, -
Nonce of Initial v d ,
these ol Concentration SR | Yalus sl ke

Please ViSit for more data at. WWww.pakKcity.org
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[ Name

Roll#.

e

"

Section:

Class: 10'h

Syllabus: Ch. 09 v7

Subject: CHEMISTRY | Time: 20 Minutes

Obt. Marks:

e

Total Marks: 13

fw}bupc.ufl-éx/!:.cﬁ!-_/;lﬂfbﬁb"’&lvﬁ..,.l.zuvua.u:u:fbéfg.:&b@lrﬁ.gdﬂ}lt.wé@.lDJ)IC'BlAMM.’f&ﬁd!r/: LA
s Y1
-‘ﬂ”;wq-!.ﬁuflgﬁ.:ur'gﬂ_/‘{/éﬂu‘{
D C B A Questions | =iy &7
g CaCO,

, JJ/(CO; ¥CaO _-,‘.J' :.&?!JLKJILL‘}:{’JJLZE:}J";&L,(L!;
¢s=¢CaO 5 e [.,;J nlJ
CaD'is not Crl.b t"-T Y ofhlgh CaCO,m —)CEIC". +CO-?IH 1
dissociated | C€O:escapes | Ca0 is more temperature | In the lime kiln, the above given reaction goes to

continuously | stablc than complction because:
CaCoO,
A
treoiGonn | LSAG | Uhedlz
r_r.«;&'{-: 14, 5. - - trll 4"
: Lt i i 4 :

Which 4:. In W;g(?l‘:/' Which :;L"L'fg RINTY 2
speeds up Which roceeds | A reverse reaction is onc;

radually | slowsdown [ reactants P |
& aradually react 1o fromleft to

form right
products
. L S .
P TR g 1o ’ f’"{o\
I. " ) r?!: - X -/
I'E’,:'/f',dg_,.l, ‘?—rﬁfg‘*’-':- K" - rxvﬂgfﬂff Q\ZA/
& Establishes & Never IS OV LTI PP I
Establishes after the Establishes e\;m;“ths Inani Q\s{%lc rcaction dynamic equilibrium:
rcadily completion | belore the S _
of reaction | completion .-
of rcaction
\ % 4) 5. i
(v ( ) [ ] o :.E'..t'lg_lf,cwfc,"{/'/r)r’ 4
A @ Molir concentration is denoted by:
(v "
(R e E o LSS
4 3 < Q“\‘ l How many possibilities are there at equilibrium | 2
state?
K‘ ﬁ Q;k;..’/ K' :‘.L""/' Kc 6
K, K, K, K, K. is cqual to:
/.;Az. é)d}(' U'.J'.;’/ u;."{TJ; :Lﬁ?élu’lll“b)’.—fﬁhlwuflblfutu—‘ 'Jl
L The substances which reacts in a chemical reacuon 7
Numerator | Equilibrium Products Reactants oigadila
arc called:
\ . RO Ve /A"//(/J;'qu'fid’:f'vubwi
€] 3] [AF[B] | [2A](B] 2A,,+B,, =13C,, "
2 ]

[A] [B] [QA] [B] [C] [3 C] For the above given reaction, the expression for the

cquilibrium constant is:

a i "J:r : ! 4 st a
J{ldﬁu_{:. c,"":lJz;mG v ‘f‘; “ cf{ld;;}:f 297 :g.l"l".‘(t):,{?rfii L,':L/"‘gldn:l:n."zriu;df‘ﬁ d‘-rld;Lgl
Backward Forward . ". Reversible | A reaction in which products recombine to form | 2
Reaction Reaction Ir;cvcrsflblc Reaction | reactants is called:

eaction

e g 3l = ¥
VAV mol’dm™ | mol™'dm™ moldm™ . “‘,J."’[' el i '._ZHI St 10
No units In chemical reaction H, +1, = 2HT units of K_are:

7~ '-z{r s - :‘.""F" el 11
Green Purple Yellow Black The colour of iodine is:
L-rgﬁ'r J{IJI..J'!'- U.E....L_'ml.f.-:}f
1389 1879 1869 1859 Guldberg and Waage put forward law of mass action | 12
in:

LT | ads | FAAE | AL i QKA |

Forward backward al. s.lal.l ¢ ot c!1 cmi cal If Q_> K_then reaction will be:
equilibnum | equilibrium ¢ _

Please visit for more data at: www.pakcity.org
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Islam Was A Super-Power 7BE:TEST SYSTEM I Islam will be A Super-Pawer

Class: 10" | Subject: CHEMISTRY

Time: 40 Minutes

Name
Roll#. Section: Syllabus: Ch. 09 v8 I Total Marks: 25 th. Marks:

Lar fo a5l

LS Pt

1 AEO0 |02 ®EOCO |03| ®E®OO (04| ®EOO |05 ®BCO

06| @®OO |07 ®®OO |08 ®E®CO |09 ®BOO |10 ®EODV

Jussvet :a..._fl-g,‘.:/:.-.@L/A/Juswaﬁ»é.,m;zua.ﬁu:}bé;:&vﬁdlrﬂqnyzu&_mdonu\.-.-.;ut.:ﬁ%ﬁdar,;

£ :tnjw__d.ﬁuflﬁau‘JL.f{/&ﬁm

1AJr

£7

D C B A Questions | =ty
ﬂ/:'d.'g'-wd'—t-.lfr"L/&.(IJJ&(_/”_L:Ic,'qu;’hslng/"'t
»l Nz - il N;' Hz ?{}‘.‘J}Z}"JJL;/:
:3 HT s N T{l’ 1 SS’ "V; N, +3H, = 2NH, K. =2.86mol*dm" 1
2 O N,andH, poig B0 y 0N Nitrogen and hydrogen were reacted together to
only NH, miake ammonia, what will be present in the
cquilibrium mixture?
o’ 1 Ko i -
No df[ (i ) ,'/.{J;M' £4 ebrdfE K, |
one o nitia - , : .
these Volume Eeasnien Temperature | Value of K, depends upon:
2 N 24
MJLT ...f'bJé ‘{/6’6-@ éﬁ’:’gb--l (fu n’Q > K / 3
: il at static at chemica \
Forward backward .- equilibiria If Q > K_then @E@n will be:
/'._/_,: ﬁ'/ld,g J'f;,{ Uf'-'i,u:) rc:u;f_;lozufuflb:u‘:&f:;dxyﬂ p
Numerator | Equilibrium Products Reactants % ces Which:reacisian i chigmien! reastion
: . % U v-«...-t'ﬂ;,"/’('_-ﬁ"r(f JJI(IJUI(ALJIIJJJ:‘,J:
[C] 3] [A] [B] 2A)f 2A,,+B,, =3C,, .
3 3
[A] [B] [2A][B] [C] For the above given reaction, the expression for the
_( “§\O cquilibrium constant is:
12 Write short answers to the follawing uestions. _g.:-&l.ﬂ/x’ﬁamrdl.g/ﬂ -
An industry was cstablished.b: sed upon a reversible LU0V e UFe qund FEEIIE 2248 i L
reaction. It failed to achieve products on commercial i - ; :
level. Can you point out the basic reasons of its failure e tlipedficie 5y vl S o | )
being a chemist? ?wé/u_t;..:.;zufdrtbfw
: e , gl g prEm— . , }
Gw.c. lWO macroscopic characteristics of dynamic BB A AsEI s | G
equilibrium. = v
Write down the equilibrium constant expression forthe : 28 c,"-f,;-fl of £ gk ¥ I8 Lo (i)
i
given reaction: N, +3H, = 2NH, N, +3H, = 2NII,
What are irreversible reactions? Give their some ; ] .
&= N BV 134 J= 21 iv
characteristics. et 'ii{"}' BUFEGIT or | (W)
Dcfine dynamic equilibrium. S FACPRIS I NG
Why reversible rcactions do not go to complction? 02 ruf udi J; L-;"‘:nd,,_k-’ 2. | (Vi)
8 Attempt all questions. E ezl 3
State the law of Mass Action and derive the expression t/ S & & 6 J2 Lol E9% FEIULST a
for equilibrium constant for a general reaction. et
For the formation of ammonia by Haber’s process | 2L, ¢, £ .2 ¥t cP/5% 4 S00°C <24 Sl
hydrogen and nitrogen react reversibly at 500°Cas S 2 ACRT
follows: -
N!t:) +3H, 2(p) ‘_"'NH.N;) b

N, +3H,,, = ZNHJ,‘,
The equilibrium concentrations of these gascs arc:

nitrogen 0.602moldm™; hydrogen 0.420moldm™ and

ammonia0.113moldm™ . What is the value of K, 7

0.602moldm™ o2s Ftius - A~ EASES Hen i
JK_-0.1 13moldm™" t#1 .1 0.420moldm™ ¢2.5%
?Jx_tfz_!'-s
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Islam Was A Super-Power 786-TEST SYSTEM ____Islam will be A Super-Pawer

Class: 10"

| Section: Syllabus: Ch.

e=—

Subject: CHEMISTRY | Time: 40 Minutes

09 v9 | Total Marks: 25 | Obt. Marks:

=]

P P sy

g P Syt

01 [AEOO |2] ®E®O® |03 ®®O0 |14| ®®OPO |05| ®BOOO

06 OO |07| ®®OC® |8 ®B®CO |19 ®B®OD |10| ®®ODV

furslie L& 4 b /AN AC L rerne ko u:fbiér:&bﬁdr/:.gdﬂm.w?:.l,.:nalC B lA:,{Iﬂ;FJI;LJIrﬁ

-l’nu‘:iy.,-mu/}d&n’(fu.{/&'LL../{

1L2dir

#7

D C B A Questions | <Uir
dlu J{'IJ}'JJ!JG b
AL ¢ 4':'/.-:415'@;{' ”'JJ‘{'JJ é:fd“-(ldi
V4V EL Y 3 Jugfj
r.-,-cu:-',;,p et U .w'- % rl.;.Lc:.'d.Z (e Sk i
The reaction | Thespeed | Wdra . R WEACEASHLEN |y
can no of the The amounts The reaction At dynamic cquilibrium:
longer be forward and | of reactants stops (0
reversed reverse and products nroceed
reactions arc cqual {;&kmty org }
are equal _—
. . IR J)frl_'-"'!((/d:('d'g)/c,_ﬁ JJJJUJJ
€] [3¢] [A][B] | [2A][B] A B = 3C,, .
- i
[A] [B] [2A](B] [C] [3€] For the qhosc( reaction, the expression for the
equilibium c,Qn nt is:
(l'l' ( ) [ ] { } (&\\ 'c.l‘bl.fj:lffc;:?j)f 3
Nal %comcmmuon is denoted by:
S
Efonsh , A "’"‘-": 'b
Jl/c.u'h"fl /:I.FV':.'/.C: (g
&V Wl q_.rlg_lf J\)R l;” ?-g-ui';uvdklfdfc—cﬁch}w Lok
Aclive mass | Active mass p Which one stutement is not correct about active | 4
means total s rcqctuon Is mass?
mass of represented dll‘EC!ly
substances | by squarc _ | proportional
concentration | Lo active
brackets
mass _
218 : "’..7_."/# =291} Y, - 218,
LE ’gd e J= 18 = ag o " " J b‘.; l)lu:;”;,.;'b <’ 5
; Non- ; : Such reactions which continue in both directions are
Dynamic ‘ Reversible | Irreversible .
Reactive called:
12 'Write short answers to the following questions. .é..-,;l;z/’ Cerdssie =2
An industry was cstablished based upon a reversible ,u,n,,C’ L'},u-',;_L?U(’G;u,:uJJ‘-(ad,L}.’f 18 L
reaction. It failed to achieve products on commercial level. . : ;
Can you point out the basic reasons of its failure being a ol sl nedLioiVe Gl S0 | ()
chemist? oL S bt
What is relationship between active mass and rate of N . -
reaction? | ’ ’ ?,édw Vizen Ly idmatsh | (i)
Differentiate between fonvard reiction and reverse reaction. AN - o ;J,J,g,,,uj-(uj,;,,,c (iii)
Define equilibrium constant and write its unit. .z:."'..-;grga,,u_i'_eﬂfﬁ/(-/d:.‘r (iv)
What is static equilibrium? Give an example. oL VEASEIE [ (V)
Why is cquilibrium state attainable from cither way? ?.Lcﬁkl_fr Houde 2 pSf Jr ELs | (vi)
8 Attempt all questions. -é.;f.-.-,;li:[.amr )
State the law of Mass Action and derive the expression | -/ $hd LGz LimgE  f ol o
for equilibrivm constant for a general reaction. LT e 1

Write down the macroscopic characteristics of dynamic
cquilibrium.

L PP LE L LL S AR

b

Please visit for more d
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islam Wa.s A Super-Power 786-TEST SYSTEM Islam Mﬂpmr
Name: Class. 10"‘_ lSllbj(.‘Ct CHEMISTRY | Time: 40 Minutes
Roll#. Section: Syllabus: Ch. 09 v10 | Total Marks: 25 Obt. Marks: I
‘ Par forf sty WS oLyt
01 [®®C0 |2[ @O0 |83 A@E@O® |14 ®B®OO |15 ®B®OO
06| @00 07| OO0 |08 ®BE®OD® |09 ®BOO |10 ®®CO
Jursvupie i .{:J/c.g,él/Afr/b.JV'dP[._.li../uc_gfu:/bicrad.bZ:Jir;(QVQlf.wiJr:DalCtB*Au}!ijké:dlr/: LAy
LWzl L e SLIYSMESY
D C B A Questions | clir P/
U mol*dm™ | mol™”'dm™ moldm™ WL LLKAH, _l" ‘——_\ 2HI S b 1
No units In chemical reaction H, +1, :*_2_}_{1 units of K_are:
S 48 pakcity.org -
ALY S Jrus g (Fd/ ALK " :
Srfer by L Sbr Vol :q..&/;lf,?ﬁ[.:ﬁ::'-’:JKc | ,
The amount Reaction | All reactants | Equilibrium | YWhen the magnitude K is very small it indicates:
of products will go to will be will never
is negligible | completion | converted to |  establish
products
oSSk @
d:!d,( v Jsgs 3130 ‘ =y 'U-”' Q =K, / 3
None of At Reverse Forward |If Q Q @"NC"O“ IS
these | cquilibrium Q)
stale
arblf/tF/_-*:..uu /Lgr{'p/)}!lb
K, K, K, @’T he specific rate constant of forward reaction is 4
{g denoted by:
>0 =L n \/;,) :.a.rx;,;;b’cr'{lJ/J;pu.'(,:/‘ 5
Slow Moderate Vcry f sﬂﬁ celigible | In the beginning the rate of reverse reaction is:
12 Write short answers to lhg,{g@ﬁlg questions. .é:.;lz/’ Lalirdszie -l
What are imcversible reactions? Give a few s : : ,
e el = SO0 S AU e )=
characteristics of them. Loiatr 2ot aVFS S | )
Define chemical equilibrium state. EAB Y M 1 JeE LS| ()
Differentiate between products and reactants, 2 ",5..;:;"""(15,,,1‘;:@,, (iii)
Why is equilibrium state attainable from either way? “;.D:blf Foude2 S8 Jf é /J;(l (iv)
Define the lurge and small values of K._. Ly (b2 S K _adslosdzdK, [ ()
Wha{ is" relationship between active mass and rate of b PULirltEiimnsS | (vi)
reaction’
8 Attempt all questions. L iz lely 3

following rcactions:
(l) H‘.‘m + I:u) — 2Hl

(ii) CO(!) +3H1!” s CH““ +H20“,

Write the equilibrium constant cxpression for the

&_ﬁu’-{/{gl(jd—-;"fﬂ/d:gli LPEIJJJE;M?

Hyp + 1y = 2HI,, (1) | a

CQO,,, +3H,,, = CH,,, +H,0,,, (i)

(g)

For a reaction between PClyand Cl,to form PCl,, the |

ESEGLCL, MPCL, & Lt PCl, £ £26 L0

cquilibrium constant is 0.13mol™dm’at a particular
temperaturc. When the equilibrium concentrations of

pCl,and Cl,are  10.0moldm™and  9.0moldm™,
respectively. What is the cquilibrium concentration of

PCI, ?

A PCl, Ji_e0.13mol™ dm® 25 S e/ E S £
=A AR sk o,
oS rle €A1 PCl, U 9.0moldm™

,110.0moldm™

Please visit for more data at: www.pakcity.org
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Islam Was A Super-Pawer 78B-TEST SYSTEM stam will be A Super-Pawer

Name: Classz_ﬁ“' Subject: CHfZMISTRY lTimc: 40 Minutes
Roll#. ‘ Section: Syllabus: Ch. 09 v11 | Total Marks: 25 | Obt. Marks:

Fis ;lmu:.'.g-&r LS Pt

1| APEOO |02 PEOCD |03| ®E®OCO (4| ®BOO (05| ®EOOO
06| OO |07 ®PEOO |08| ®E®OO |09 @BO©O |10 ®BOO

Tursbolle L. ,._r;,cﬂ/,gf.;u;pavzgzunc..;wfuég_:avédlrﬁ<qrwﬁu£+:nnrC.B.A.;pz.-f&édw LA
P WAz 3L SIS S| g

D C B A Questions | <y -y
7z <4 2 1L e fMIET |
Green |  Purple Yecllow Black The colour of iodine is:
Re L3 K, LY il N
K. K, K, K, K. is equal to:
» out{ A ARV (NPT I8, 74
Yy 24 EASE u"r."!-r, VagaX? T b.'“‘flb’{" TJ{J“‘ uf" 'E";J:fr{;d . .'J':' | 3
Numerator | Equilibrium | Products REAGEDIS ¢ substances which reacts in a chemical reaction
arc called:
BT IR LIS R CPAIL
4 3 = ] How many possibilities arc there at equilibrium [ 4
state? ' |

X
2
( 45403 b} J. a .""_ o .5, </
. -,:f, | e s -,J , S by Q\()@
4'4-‘-'::5’ -'L’J t_’:'”[:/.:&-) (pz!n)'uub) 4'4‘:,2;:,;, %i \VI.

et . LY S ;
the rates of : the SLEE O\ e ba el AT L 5
the mte Or .* thc | . age .
the forward the reverse opposing q%i% °When a system is at equilibrium states:
and reverse . reactions | €Onc "@
reactions b smmraie (forward & -
become v col « and reverse ﬁi\) roducts
cqual cry lo stop~{ becomcs
~& equal
12 Write short anm'erstolh&\}.uhéwing (uestions. oyr Lotz -2
What is meant by rate of rcaction? St U, e tigTies | )
Define reversible and irreversible reaction. PO TN I g JE g | ()
What are numerator and denominator? ‘LAY S | (i)
What is meant by extent of a reaction? St Ve wd Sh8 | ()
What is meant by a complecle reaction? How is it , .
 presented? ’ _ ?.Ltkgﬂl%é’c-'?é-"/ -‘-'(C-L‘f{'dﬂ); (v)
Complete the given reactions: 2H,+0,—2d 39 [, 2H,+0,—Di 9. F 28 L e b
vi
CaCO,—? ,H,+1,—>7. H,+1,—?.CaCO,—?
8 Attempt all questions. Zferlety 3
Describe  the characteristics of reversible and | FedFidutgy et SAAGISE 2120 8 JE s o
irreversible reactions? Give examples. %y
-\v . . . . ] ' = 5 e -f_
hen mt‘r.ogt?n rc'lct'f with hydmg‘en to form ammc:ma KT A LD Lty rfim R fos
the equilibrium mixture contains 0.31moldm™and ) : :
_ | A PrFt0.50moldm™ Ly 031moldm™ =/ 55
0.50moldm™ of nitrogen and hydrogen respectively. If ) s b
_ . . T Jes720.50mol T dm® K, e tn 4200
the K_is 0.50mol™dm®, what is the cquilibrium aloa #?.f £
concentration of ammonia? S

Please visit for more data at: www.pakcity.org S
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|slam Was A Super-Power

e

786-TEST SYSTEM Islam will be A Super-Power

'-Ig\li'lme: Class: 10" | Subject: CHEMISTRY Time: 40 Minutes
Roll#. | Section: Syllabus: Ch. 09 v12 \ Total Marks: 25 | Obt. Marks:
| P P sy ) Pl et
11 [A@E®OO |02[®®C0 |03 ®®O0 (04 ®B®OD |05 ®E®OV
6| ®®0® |07 ®®OC0 |08 ®OOO 09| ®®OO [10| ®®OCO
Sussouhleti-&s Ao ubh Jidi 3038 Etrernab sz Lir 14082 i DACBANZL L7 s L2
-I’ﬂ»’ﬂ-jiu/)gﬂ:ﬂf&d{/_‘-ﬁu‘t _
D C B A Questions | =iy R
sy $id s S s WSSt |
Moscley Rutherford Guldberg Dalton Who put forward the law of Mass Action?
B s o fFK, FEPYIRAS IR B IS T
mol™ dm moldm’ mol™ dm° ) ""'i, When number of moles are same on both sides then | 2
Nounits 1 ,nit of K, will be:
N VX,
Lu hgnl dnx&n;f:r;h;
Eediden | dbbuine | gped, | 2o e dint et s
sZrgn | wlely | g | Products e LS =it tor S ot
They have a They il never The chumctcrislic@/@' rsible reactions are many, | 3
: They never - except this on -
double proceed in recombinc pt tht "-@
complete
AITOW both ways to form /Q\O
between reactants < ®
reactants @%
and producits ({S
s L P, ¢£) Lf.(;!/ J’){ ,@> :uEsi".fl!'Lﬁéf&-('uflu:uq"??'ﬁtﬂdy"'tflug L
N FEE L lLl; ; Prod Tt @ The substances which reacts in a chemical reaction [ 4
umerator quilibrium roducts \Rﬁ@ P E
. 5 ﬂ@ 1%.:/».,‘,2/{5_‘-:;5!?/:‘6!56;'){4.Lﬂldxiibn
€] [3] %@@ [2A](8] 27, +B,, =3C, ;
[A]. [B] [2A](B] [3C] For the above given reaction, the expression for the
equilibrium constant is:
12 Write short answers to the following questions. Ja}vz/ﬂﬁawnb.pp -2
Define equilibrium constant and writc its unit. W nmsE s Pl A5k )
What is static cquilibrium? Give an example. e LS VEAS A | (i)
Why is equilibrium state attainable from either way? ?;.CCQ_JJ'W{C.E__)JJQU,Q (iii)
iiqc::fhgir:l n);rzt:a::gow that a reaction has achieved an feV SPE S EI S8, ¢ &= 43{77 (iv)
Give the importance of equilibrium constant. Eubeaf L /Jd,fs (v)
Definc the large and small values of K_. v PRl A K sz K, | (V)
8 Attempt all questions. Eifeuplety 3
Explain the relationship between active mass and rate of 7 . y
lhcprcaction. ’ el e LS | a
Hydrogen iodide decomposes to form hydrogen and ,ﬁ.:-_t-lg,:l)]_gu:c{,;,f'fmcj'-’,;,‘-.'yij:!d}:»’l;gi'g?,,}.';
odine. | wyen s : : N
iodine. If the equilibrium (ioncenlrallon of HI is CT. A H. 150,078 moldm™ o2 /f £k S
0.078moldm™, H,and 1,is same0.0l11moldm™. Ll:;f ) ) B ‘;/ b
Calculate the equilibrium constant value for this THSE gas170 0.0 Imoldm™ (= L1772
reversible reaction. et A S skl

pakcity.org
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Islam Vias A Super-Pawer 786-TEST SYSTEM Islam will be A Super-Power
| Name: Class: 10" [ Subject: CHEMISTRY | Time: 75 Minutes
Roll#. I Section: Syllabus: Ch. 09 v13 | Total Marks: 5O | Obt. Marks:
' AP pufired ‘
=kr e o sy I W P frr et ‘
40 Write short answers to the following questions. o2 Lo s -1
What is meant by rate of rcaction? st U, e ghigaien | 1
What is active mass? Write ils unilt. -écugb’dlf‘;._l{dt}g 2
Define reversible and irreversible reaction. ..g_";'_,y j"J c)igldl‘_}.{ 20N =g |3
Differentiate between products and reactants. -a.gJ}btu'ﬁf'ldmuqu 4
Dif fc.remlatc between forward reaction and reverse Lk b 2ot | 5
reaction.
Define dynamic equilibrium. _E S sh | 6
Gw.e- two macroscopic characteristics of dynamic e o Fon eSS | 7
cquilibrium. :
What is static equilibrium? Give an example. _EJeLite U PAT N
How dynamic equilibrium is established? CetrlF Ll shitn | 9
Why reversible reactions do not go to completion? 0 U ._); SIS 0| 10
What arc irreversible reactions? Give their some
characteristics. /\é %\"’*’on‘:tf/ oJE g | 11
What are numerator and denominator? A o eV 2898 pade | 12
Explain law of mass action. ﬁ%\\jw _a;_-'-'u!,u"-(ut_j‘n’.u 13
Define equilibrium constant and write its unit. >/ _2l K ml.,-_,_»/J_.//(/d,ﬁ 14
Write down the equilibrium constant exprewo@%ﬂi R (RN S 1A IS TR S AR P S '8
given reaction: N, +3H, = 2NH, ~\ O N.+3H, = 2NH,
Give the importance of cquilibriumﬁﬁlam. A A T O Aoki| 16
What is meant by extent of a lﬁg\%n? Test V. = od58, | 17
Define the large and small values of K_. Sy Jr":dmd 2LK m,}.,dudzJ K | 18
What is meant by a complete reaction? How is it . X
presented? ’ ’ febbU b e ifet U, =i | 19
Complete the given reactions: 2H,+0, 239 | 2H,+0, —=y 718 F A6 ds e -
CaCO;—?,H,+],—7?. H,+1,—?.CaCO,—? |
How direction of a reaction can be predicted? ?,;__JCQJ{J/ Jf,%J:erf‘fld; 21
How can you know that a reaction has achieved an s A .
cquilibrium state? eV /Sl Sl K‘J{-‘%‘:{’r - | 22
What are the characteristics of a reaction that | Fb& /=AU GEILI 2 Lot S 1 3
cstablishes equilibrium state at once? e
If reaction quotient Q_of a reaction is more than K_, Urinntie K, 4J4Q, = h e gy’ 24
what will be the disection of the reaction? ‘.‘J wWerd ui{l
An industry was established based upon a reversible 45’ J,I;',‘;_J'Jfﬁ4u,,ng§|d,Jf 228 L '
reaction. It failed to achicve products on commercial : . F B . .
level. Can you point out the basic reasons of its failure et liped fTWe Gttt S by, | 25
being a chemist? 'L/ ug—...:;de Kl
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|slam Was A Super-Power 786-TEST SYSTEM Islam will ke A Super-Power
‘Name: Class: 10" | Subj cct: CHEMISTRY | Time: 50 Minutes |

Roll#. Section: | Syllabus: Ch. 09 v14 | Total Marks: 30 Obt. Marks:

.u:-jJ;a ;bx-:d&@r Lﬂ-’l;;-’; (s
40 Write short answers (o the following guestions. _H'_n'._.l.lf ALt ) 50000 -1
Define dynamic equilibrium. Ay Jf’ /Jd.r-lJ AL |

Give two macroscopic characteristics of dynamic

-0 o Co LA E" T
equilibrium. ke "’-Gi Bl ASILEL | 2
"; What is static equilibrium? Give an example. e it VE Auki k| 3
| How dynamic equilibrium is established? | &',«T-_t-,:(fﬁ';_:fri /gd,ftjtfl; 4
Why reversible reactions do not go to compbetion? 5 -fu"" sy J“( f"/rlj;d" sl 5
, . — .
What _ar? }rrevermble reactions? Give their some | E ; 5 S S B EE I s | 6
charactenstics. )
Write down the equilibrium constant expression for the gé/ ._-3-'#:" A sk ¥ gE s xf; “ |
oiven reaction: N +3Hﬁ — 2NH, @Q\QB N, +3H, = 2NH,
How direction ﬂf a reaction can be predicted? °LGCBJJJfJ}Jij§|L5J | 8
How can you know that a reaction has ach 5@1 : ,k /_{ 9
equilibrium state? | e LS A st ’r"‘"
What are the characteristics of r:tmn that | tb & S EASE 2 e tor? S 1o 2 10
establishes equilibrium state at (o* ey Ce
\)\/ . - ’_;._ . .:.'_- ..'-- —
If reaction quotient Q_of a reaction is more than K_, Gsirnbie K, *%’JQc 22/ U—(’é‘uzhfqd"f(’ﬁ 11
what will be the direction of the reaction? ?L_f e o5
An industry was established based upon a reversible ,_-j’ AN g-ff( ' ("L: ,;u,,y,bf S a8 i L
reaction. It failed to achieve products on commercial , e B e |
_ e ba . ul Ll ot O st i | 12
level. Can you point out the basic reasons of its failure | < (L LA L e Gt LS S bl
being a chemist? \ e S uye.&ﬂ:g,fd Kl
Give the characteristics of reversible reaction. _E‘fé’u;g;.y#J FEISE s 13
How is dynamic equilibrium established? e bnfE At 14 |
Why at equilibrium state reaction does not stop? W UL R SE Al | 15

{pa;mity. org }
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Islam Was A Super-Power 786-TEST SYSTEM Islam will be A Super-Power

Name: Class: 10" [ Subject: CHEMISTRY | Time: 8¢ Minutes
Roll#. I Section: Syllabus: Ch. 09 v15 ‘ Total Marks: 40 | Obt. Marks:
ugél/‘bﬁtd&@r i..L’-"l.JJ':-”:‘L«C:J”h"-':2
40 Write short answers to the following questions. .2.:&!;2/"" Lyl orer -1
Define dynamic equilibrium. A NIPRT I CON
GWF. two macroscopic characteristics of dynamic TS O FnSt Ak | 2
cquilibrium. 3 v
What is static equilibrium? Give an example. et VEJsh e | 3
How dynamic equilibrium is established? Ce bt G SElsh | 4
Why reversible reactions do not go to completion? S‘Z_::uf U JI u’*:ldJJ:'-'-’ 20| S
What are .1rrever51ble reactions? Give their some B St AL | 6
characteristics. - |
Write down the equilibrium constant expression for the | :2¢ Fh oS Eloh v dh g &L oo ;
given reaction: N, +3H, = 2NH, N, +3H, = 2NH,
How direction of a reaction can be predicted? ?;G&Jé@fuﬁ:.fy‘fﬁ@, 8
How can you know that a reaction has achieved an
cquilibrium statc? ?"u;"}lb(” SIS “‘" c."f B
What are the characteristics of a reaction that | F¢ & Sk d &@9}, St d «J'r sl 10
establishes equilibrium state at once? 0O
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40 Write short answers to the following (uestions. .J.::.[.l.e/‘:’ Cordose -1
Define dynamic equilibrium. AP NCPRT SO
Give two macroscoFic characteristics of dynamic : ;
equilibrium. / et LE EnllEAS A | 2
What is static equilibrium? Give an example. _EJeLite VEJSSIEE | 3
How dynamic equilibrium és established? SetrfC LNt | 4
Why reversible reactions do not go to completion? SRR = TN e 4, S

What are irreversible reactions? Give their some . .
characteristics. --=‘—6~‘-'—£-" &JU'?LG?VEIJ;J.’-' 20| 6

Write down the cquilibrium constant expression for the | :f 24 o2/ £) gf v 6 & L s

given reaction: N, +3H, = 2NH, N, +3H, = 2NH !
2 2 3
How direction of a reaction can be predicted? ?.:.GCI:»J 4_( éf Slerd cf{ld; 8

How can you know that a reaction has achieved an
equilibrium state?

Se USS b ASR L PSSR = LT | 9

What are the characteristics of a reaction that | Fb& /=l dE SN 2 ot = o’ St
establishes equilibrium state at once?
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40 Write short answers to the following questions. .ﬁayﬁ/" Ly’ -1
Why at equilibrium state reaction does not stop? W Ul d"-rld,u.‘_-)bd'ﬁ /o’;.rl 1
What are numerator and denominator? U LIS | 2
Why reversible reactions do not go to completion? St u,{.,}; TSI ws| 3
Whalt is meant by rate of reaction? el V. e SEgTe, | 4
Define equilibrium constant and write its unit. ety FEaE sk | S
Define chemical equilibrium state. ..‘_:..{u_L_-..-)bJﬁ ﬁ’d.’glug 6
Differentiate between products and reactants. -JJ}L):J%duﬂﬂuz 7
Why is cquilibrium state attainable from cither way? e CLW S bude & b0 sk | 8
Define the large and small values of K_. o b5 0K, n'!.-"-JwaJ::J K.| 9
::;i::a[lio:? relationship between active mass and rate of QO\q% J‘ I Ty 10
{pakcity.org ?o
Name: / Teme: 80 Minutces
Tioll#._ Section: ' (@ Total Marks: 40 | Obt. Marks:
u"u Va'al uJ.t&,r | /\\@)\) LS Felor et
40 Writc short answers to the J\M qucstions. .;:‘..o'..-:.pz/"" Zelrdiose -1
Why at equilibrium state reaclion does not stop? S uely J{ RV M /_J,j,.(l 1
What are numerator and denominator? BV AZSISa e | 2
Why reversible reactions do not go to completion? 82w ud J'; u'( BRIV <PT7N .
What is meant by rate of reaction? el /b(@:..d'-(ld;_;ld/J 4
Define equilibrium constant and write its unit. Y N Ay 2L RS )
Definc chemical cquilibrium state. REAIES R PR Oy 2 I
Differentiate between products and reactants. 2N BN ;J,,,lf@,4 7
Why is equilibrium state attainable from cither way? ?;_D:L!g,_}‘bu{ =y Nd Lf",{ Jiki| 8
Define the large and small values of K_. NES N Yo 1 K adbowsszdK | 9 |
::’::ttm:ls? rclationship between active mass and ratc of e FU Lol sl | 10
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40 VWrite short answers to the following questions. ez 2L itz -1
Define chemical equilibrium state. LA R PR 05 28 I
How is dynamic equilibrium establishcd? e trfe Ll SA ks | 2
Wha! lsqrelauonshnp between active mass and rate of Ce J'; YW Aosmaish | 3
reaction’ -
How direction of a reaction can be predicted? ‘.‘(.;.Gct_,;f r_féf slerlstig | 4
What is meant by rate of recaction? Sl e SEITTen | 5
Define reversible and irreversible reaction. S PSS s S st | 6
What are numerator and denominator? SV LSS | T
What is meant by cxtent of a reaction? ?g.:l/gc_»gfui‘gld; 8
What is meant by a complcte rcaction? How is it : A
presented? ’ " fe bbb = 1te iy Ve st | 9
What are the characteristics of a reaction that | P& Sl 8hiz kot S 10
establishes cquilibrium state at once? | e
SR ) '
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40 Write short answers to the f(lllkmk]uwlinns. B SLY a1 § R P -1
Define chemical equilibrium stale) EARRC N (P AT N 2
How is dynamic equilibrium cstablished? ?{_r,-:fsé-_? JSEILE | 2
WhaE lS;‘ElﬂthﬂShlp between active mass and rate of o YW Aol | 3
reaction’ il -
How direction of a reaction can be predicted? ?.:-_CcCI:.Jr_;"JflﬁJyJJ‘:IJJ 4
What is meant by rate of rcaction? St s cigTen | 5
Define reversible and irreversible reaction. _E S PSS s It | 6
What are numerator and denominator? SV AZdiSimende | T
What is meant by extent of a reaction? ?.le/gc..ptfd"’gld.l 8
What is meant by a completc reaction? How 1s it , .
presented? ".4-“.'!:&“5.—(:—'99-"/&{ c-cf‘g'daJ; 9
What arc the characteristics of a reaction that | t¢& /= d, EASRIG 2 e alor” S8 2 10
establishes equilibrium state at once? e
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40 Write short answers to the following questions. oz 2L 000 -1
T—— To———— ) ‘
What are  1rrey ersible reactions? Give a few Lo Sonsee J; AL AR
characteristics of them.
Derive equilibrium constant cxpression for the S (SR L L2 vr e Pty Faft 5
synthesis of ammonia from nitrogen and hydrogen. B
What is active mass? Write its unit. -é;;g(ul?.;,_bfut;g 3 |
Diffc.rcntlate between forward recaction and reverse Lo 'f,:' o Fudaad cff' S | 4
reaction. e
Define cquilibrium constant and wrile its unit. I nmEy FlafE gk | 5
What is static equilibrium? Give an example. _EaJE LS VEASEIEE | 6
Why is equilibrium state attainable from cither way? e P bude 2 2 S5k | T
How car you know that a reaction has achieved an (s AL _ .
equilibrium state? e VIS SIS (2__,5’_',( < 8
Give the importance of equilibrium constant. L,'L_/IJ._.."':(( /o:r 1|9
Define the large and small values of K_. c'_....—- /\QQL@B-G TS K. mz$sssad K. i 10
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40 Wrile shorl answers to the ing questions. .z-_‘".;.yz/ﬂ’ Latrdisse -1

What are irmreversible reactions? Give a few

charactenistics of them.

-s:—fu'y.:-g:*‘xzufw'?wwi:md{ 2, 1

Derive equilibrium constant cxpression for the
synthesis of ammonia from nitrogen and hydrogen.

L,(J.—»'-"’:(ﬁ-’/ d:gl g S Lol o Lasity ) S L

e A

What 1s active mass? Write its unit.

Hegase st |3

Differentiate between forward reaction and reverse
reaction.

"L Q,'Q.J/; e d‘“{ld;p"/.fzuld‘gldﬁu/ﬁ 4

Dcfine equilibrium constant and write its unit.

Bty pla Sl 8k | 5

What is static equilibrium? Give an example.

-EaJe Lt UEJShIEE | 6

Why is equilibrium state attainable from either way?

e FLW S bude 8 S EASh | T

How can you know that a reaction has achieved an
cquilibrium state?

te VPSS S LT T 8

Give the importance of equilibrium constant.

Lok 2SIk | 9

Define the large and small values of K.

-E ksl K mdismsn K, | 10
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